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main() B9 || func(5) | | T 5 * func(4) =120
func() BA%k | func(4) | | T 4 * func(3) =24
func Q) BA% | func(3) | | T 3 * func(2) =6
func() BA%k | func(2) | | T 2 * func(1) =2
func() BA%& | func(1) | | T 1 % func(0) =1
func() 9% | func(0) — |— 1 =1
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1: #include <stdio.h>
2:
3: void add(double a[], double b[], double c[]);
4: void sub(double a[], double b[], double c[]);
5: void mul(double a[], double b[], double c[]);
6: void div(double a[], double b[], double c[]);
7:
8: int main(void)
9: {
10: double a[2] = {1.2, -0.5}; /* a[0] + a[1]i */
11: double b[2] = {-2.2, 6.8}; /* b[0] + b[1]i */
12: double c[2];
13:
14: add(a, b, c);
15: printf (" ((4E)+CAE) 1) +(CAE) +(%E) 1) =(%hE)+(%f) i¥n",
16: alo]l, al1l, bl[0]l, b[1], c[0], c[1]);
17: sub(a, b, c);
18: printf (" ((4E)+CAE)1) - (CE) +(%E) 1) =(%hE)+(%f) i¥n",
19: al0o], al1l, bl[0]l, b[1], c[0], c[1]);
20: mul(a, b, c);
21: printf (" ((4E)+CAE) 1) *x (CAE) +(%E) 1) =(%hE)+(%f) i¥n",
22: alo]l, al1l, bl0]l, b[1], c[0], c[1]);
23: div(a, b, c);
24: printf (" ((4E)+CAE)1) / (CCAE) +(%E) 1) =(%hE)+(%f) i¥n",
25: alo]l, al1l, bl[0]l, b[1], c[0], c[1]);
26:
27: return O;
28: }
29:
30: void add(double al[], double b[], double c[])
31: {
32: c[0] = al0] + b[0];
33: c[1] = a[1] + b[1];
34: }
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. #include <stdio.h>

1
2
3: void disp_aryl(int nn[], int len);
4: void disp_ary2(int nn[]);

5:

6: int main(void)

7
8
9

: {

int aal[5] = {100, 200, 300, 400, 500};
int bb[6] = {111, 222, 333, 444, 555, -1%};
disp_aryl(aa, 5);
disp_ary2(bb);
return O;
}

void disp_aryl(int nn[], int len)
{

int i;

for (i = 0; i < len; i++) {
printf("/d ", nnl[il);

}

printf ("¥n");

void disp_ary2(int nn[])

{
int i = 0;
while (nn[i] !'= -1) {
printf("/d ", nnl[il);
++1i;
}
printf ("¥n");
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: int

: {

int

int

: #include <stdio.h>

1
2
3: int gcd(int x, int y);
4: int lcm(int x, int y);
5:
6
7
8
9

main(void)

int x = 672, y = 204;

printf ("gcd(%d,%d)=%d¥n", x, y, lem(x, y));

return O;

gcd(int x, int y)

int t;

while (y !'= 0) {

t = x;
X =Y;
y=1t%hx;
}
return Xx;

lem(int x, int y)

return (x * y) / gcd(x, y);
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1: #include <stdio.h>

2

3: int main(void)

4: {

5: int n = 5;

6 int i =1, tmp = 1;
7

8 while (i <= n) {

9 tmp = tmp * 1i;
10: it++;

11: }

12: printf ("%d!=%d¥n", n, tmp);
13:

14: return O;

15: }
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35:

36: void sub(double al[], double b[], double c[])
37: {

38: cfo] = al[0] - b[0];

39: c[1] = al1] - b[1];

40: }

41:

42: void mul (double a[], double b[], double c[])
43: {

44 c[0] = al0] * b[0] - al1] * b[1];

45: c[1] = af0] * b[1] + a[1]l * b[0];

46: }

47:

48: void div(double al[], double b[], double c[])
49: {

50: double tmp;

51:

52: tmp = b[0] * b[0] + b[1] * b[1];

53: cl0] = (a[0] * b[0] + al1] * b[1]) / tmp;
54: cl1] = (-1 * a[0] = b[1] + a[1] * b[0]) / tmp;

55: }



